NHS Patient Survey Programme: 
Scoring of Questionnaires
This paper describes the scoring system used in the national patient survey programme. It sets out which questions can be scored, the rationale for scoring, how scores are applied and how the final score is calculated.

Which questions can be scored

When the Care Quality Commission publishes the results for surveys in the national patient programme, a mean score is calculated for those questions that evaluate the quality of care provided.  

A question is considered to be evaluative if it assesses patient or service users experience of care. These questions will help the trust identify areas for service improvement. 
It is not possible to assign a score to all questions. This is because not all of the questions evaluate the quality of care in any way. Please see Appendix A for more information about which types of questions cannot be scored. 
Rationale for applying scoring to questions 
The reasons for providing a score for each (evaluative) question are:

· Scores are easy to interpret and actionable with a high score showing good performance and a lower score suggesting areas for improvement

· To summarise all response options to a question into a single figure with surrounding confidence intervals

· At a national level this better enables trust results to be more easily compared, either to the national distribution or to other trusts
· It allows the results of particular questions to be grouped and aggregated to form a single composite score.
.
How scores are applied

Scores are calculated by converting responses to particular questions into

scores out of 100. A score of 100 represents the best possible response.

Therefore, the higher the score for each question, the better the trust is performing. Conversely, a lower score suggests an area for improvement. 
In other words, scores indicate the extent to which the patient or service users experience could be improved. A score of 0 is given to any response option(s) that suggest considerable scope for improvement, whereas a score of 100 is given to any response option(s) that shows the best possible experience.

Not all response options are able to be scored. Many questions within the questionnaires include an option that cannot be used to evaluate the trusts performance. For example, if a respondent cannot remember or does not know the answer to a question, a score is not given. 

For example, the following question is taken from the Adult Inpatient Survey. The scoring of each response option is shown on the left:


The option of “No” was given a score of 0, as this suggests that the experiences of the patient needs to be improved. A score of 100 was given to the option “Yes, always” as it reflects a positive patient experience. The remaining option, “sometimes”, was given a score of 50 as the patient sometimes understood the doctor’s answer, although not all of the time. Therefore it was placed on the midpoint of the scale. 

If the patient had no need to ask questions this is not scored as this option was not a direct measure of whether or not the doctor gave answers that the patient could understand. 

For questions where a number of options lie between the negative and positive responses, they are placed in appropriate positions along a scale. 
For example, one of the questions from the survey of community mental health services asks how well the care coordinator organises the care and services needed by the service user. The scoring of each response option is shown on the left:

A score of 100 is given to the option ‘very well’, as this is the best service user experience. ‘Not at all well’ is scored zero.  The remaining two answers were assigned a score that reflected their position in terms of best practice, spread evenly across the scale. Therefore the option ‘quite well’ was given a score of 67, and ‘not very well’ a scored of 33.

How the final score for each question is calculated

The overall trust score for each question is calculated as an average of the individual scores. For example, the following question is from the survey of maternity services with the scoring shown on the left:


The following table below shows the scoring for this question for trust A which for simplicity reasons has only six respondents. 

The overall score for this question for Trust A is 58.3. This is calculated as the sum of all contributing scores (100+50+50 +0+50+100) divided by the number of respondents (350/6=58.3).

	Did you have confidence and trust in the staff caring for you during your labour and birth?       

	Respondent
	Score

	1
	100

	2
	50

	3
	50

	4
	0

	5
	50

	6
	100

	OVERALL SCORE
	58.3


Accessing scored questionnaires from the national patient survey programme
A ‘scored’ questionnaire which shows the scoring assigned to each question is available on the Care Quality Commission website for the most recently published surveys at: http://www.cqc.org.uk/aboutcqc/howwedoit/involvingpeoplewhouseservices/patientsurveys.cfm 
For older surveys, scored questionnaires can be requested from the CQC surveys team at patient.survey@cqc.org.uk 
Note

This document has outlined how and why questionnaires are scored and how a mean score is created for each trust for each question.

However, trust level data used in the national patient survey programme is ‘standardised’ meaning that replicating scoring is only one step in replicating the methodology. 
The standardisation applied to the data varies by survey though most surveys are standardised by age and gender (the Inpatients Survey is additionally standardised by emergency or elective route of admission while the maternity Survey is standardised by age and parity). 
 To compare scores between ’local’ surveys and results from the same survey in the national patient survey programme the standardisation would also have to be applied.
 For further information please contact the Advice Centre for Local Surveys:
Email: advice@pickereurope.ac.uk
Telephone: 01865 208127

APPENDIX A: Description of questions not able to be scored

It is not possible to assign a score to all questions. This is because not all of the questions evaluate the quality of care in any way. Such questions are:

Filter questions which are designed to filter out respondents to whom following questions do not apply. An example of a filter question from the adult inpatient survey (2010) is 


Respondents who did not have an operation or procedure are instructed to skip past q52-Q57 asking about experiences of operations and procedures as they do not apply to them.

Background questions which provide demographic information about the respondents who took part.  These would include questions asking about the respondent’s date of birth, ethnicity, or gender for example.

Descriptive questions which provide information about the respondent. An example of a descriptive question from the survey of community mental health services is:

Responsibility for service improvement Another reason for not scoring questions is that it is not the responsibility of the trust to provide that service. For example, the Maternity Survey is a pathway survey asking women about their experiences of maternity services from antenatal to postnatal care. Some of the questions in the survey relate to care that is provided by the PCT, particularly the sections of the questionnaire about antenatal and postnatal care. As the sample was drawn from acute trust records, only those questions (19 in total) were scored which could be fairly allocated to the acute trust.




When you had important questions to ask a doctor, did you get answers that you could understand?


100    Yes, always


  50    Yes, sometimes 


    0    No


    -     I had no need to ask











How well does your Care Co-ordinator (or lead professional) organise the care and services you need?


100   Very well				


 67    Quite well 				


 33    Not very well				


 0      Not at all well 	








Did you have confidence and trust in the staff caring for you during your labour and birth?       


100  Yes, definitely    


50    Yes, to some extent    


0      No    


-       Don’t know / Can’t remember   











During your stay in hospital, did you have an operation or procedure? 


 Yes		Go to 51


 No		Go to 58











Overall, how long have you been in contact with NHS mental health services?


 Less than 1 year		


 1 to 5 years		


 6 to 10 years		


 More than 10 years


 I am no longer in contact with NHS mental health services


 Don’t know / Can’t remember	











� A confidence interval is an upper and lower limit within which you have a stated level of confidence that the true trust mean (average) score for a question lies somewhere in that range. These are commonly quoted as 95% confidence intervals, which are constructed so that you can be 95% certain that the true mean lies between these limits.


�  The reason for applying standardisation (such as age and gender) to data is that different trusts have different profiles of patients or service users. For example, one trust may have more male patients/service users than another. This can potentially affect the results because people tend to answer questions in different ways, depending on certain characteristics. For example, older respondents tend to report more positive experiences than younger respondents, and women tend to report less positive experiences than men. This could potentially lead to a trust’s results appearing better or worse than if they had a slightly different profile of patients/service users. To account for this, we ‘standardise’ the data so that no trust will appear better or worse than another because of its respondent profile. This helps to ensure that each trust’s age-sex profile reflects the national age-sex distribution (based on all of the respondents to the survey). It therefore enables a more accurate comparison of results from trusts with different profiles of  patients/service users.


� Please note that replicating the standardisation applied to trust results for the National Patient Survey Programme requires advanced statistical and analytical skills and should be undertaken by a statistician
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